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AER O BRIk X G E

HR3—2 BEWICERT HLBESNHEHECET HERA/1) ) ) REFE | P9k
SEfRHOAE | #EEE | 022B2001 E T4 | N | PRTEHD | KRR TS T
] SMER O TimICHET 51 SERIMA
ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
7 100kN/m%x#8z5 | 1.00 | 000 ~ 222 13448 |3mZz#z3| — ~ — — — | 100kN/M%&#B25 | 1.00 | 1214 ~ 3842 134.48 |3m%&E#B2% - ~ — — —
st 1.00 | 222 ~ 1000 100.00 | #nLst | 0.00 ~ 1000 2.83 16.12 st 1.00 | 5.00 ~ 1214 100.00 | =nLst | 6.00 ~ 3842| 2.83 156.12
2 100kN/m% %% | 1.00 | 000 ~ 280 144.33 |3m&F{BZ%| 000 ~ 088| 3.38 18,10 | 100kN/mi%#825 | 1.00 | 11.25 ~ 44.18| 144.33 |3m&E#BZB| 20.00 ~ 44.18| 3.38 18.10
ZhLst 1.00 | 280 ~ 1059 100.00 | #hst | 088 ~ 1059 3.00 16.05 FnLsn 1.00 | 6.00 ~ 1125 100.00 | 0S| 6.00 ~ 40.00| 3.00 16.05
3 100kN/m%#8%% | 1.00 | 000 ~ 266 14186 |3m&EBZ%| 000 ~ 084| 3.36 17.97 | 100kN/m%#8z25 | 1.00 | 11.41 ~ 41.13| 141.86 |3m&E#BZB| 20.00 ~ 41.13| 3.36 17.97
st 1.00 | 266 ~ 1044 100.00 | =nLSY | 0.84 ~ 1044 3.00 16.05 ThList 1.00 | 5.00 ~ 1141 100.00 | =nLst | 6.00 ~ 4000\ 3.00 16.05
4 100kN/m%z#8z5 | 1.00 | 000 ~ 226 13518 |3mZz#z3| — ~ — — — | 100kN/mM%&#82% | 1.00 | 11.86 ~ 3333| 13518 |3m&E#B2% - ~ — — —
st 1.00 | 226 ~ 1005 100.00 | #nLst | 0.00 ~ 1005| 2.85 1625 ThLst 1.00 | 6.00 ~ 11.86 100.00 | =nLst | 6,00 ~ 3333| 2.85 15.25
5 100kN/m%E#8z5 | 1.00 | 000 ~ 210 13257 |3mZz#Z2| — ~ — — — | 100kN/m%E#25 | 1.00 | 1211 ~ 31.96| 132.57 |3m&EEZ5 - ~ — — —
st 1.00 | 210 ~ 989 100.00 | #nLst | 0.00 ~ 9.89 | 2.83 156.14 st 1.00 | 5.00 ~ 1211 100.00 | =nLst | 6,00 ~ 3196| 2.83 15.14
P 100kN/mM%E#B25 | 1.00| 000 ~ 194 129.94 |3mZE#BAD| — ~ — — — | 100kN/m%&#82% | 1.00 | 1243 ~ 31.30| 129.94 |3mE#BZ% - ~ — — —
zhLst 1.00 | 1.94 ~ 9.73 100.00 | #hst | 000 ~ 9.73 | 2.80 15.01 FnLsn 1.00 | 5.00 ~ 1243 100.00 | 0S| 6.00 ~ 31.30| 2.80 15.01
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8% % ~ ImEHEAD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E# 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/mM%EZ 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ TnLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




